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PUZZLE 01

GGGGGG

of a four storey building where the lowermost floor is numbered one and

the floor immmediately above it is numbered two and so on.

Note-I: Each floor has two type of flats viz., Flat-A and Flat-B, where Flat
A is to the west of Flat B.

Note-ll: Flat B of floor 2 is immediately above Flat B of floor 1 and
Immediately below Flat B of floor 3 and so on. Similarly, Flat A of Floor 2
IS Immediately above Flat A of floor 1 and immediately below Flat A of

floor 3 and so on.

Note-lll: Area of each flat on each floor is equal. Note-1V: Only two

persons live on each floor and only one person lives in each flat.

Note V: Each person has different number of shoes with them, which is

a two digit number. No one has more than 50 shoes.

The one who has 27 shoes lives two floors above the flat of N, who lives
on an odd numbered floor, has 8 shoes less than L. The number of floors
below N is one less than the number of floors above |, who has the
number of shoes which is a multiple of seven. Only one floor is between
| and the one who has 17 shoes less than P, and both are living in the
same type of flat. M, who has a prime number of shoes, lives two floors
above the flat of L. Both M and P neither live on the same floor nor in the
same type of flat. Only one floor is between K and P, who has a square
number of shoes. No one lives to the east of K, who has 4 shoes less than
L. The difference between the number of shoes with land J is 3. J has the
number of shoes which is reverse of the number of shoes with M. The
difference between the number of shoes with O and K is 15. No one lives

to the east of the one who has the number of shoes which is a multiple of
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PUZZLE 02

Eight persons A, B, C, D, E, F, G and H are sitting in a straight line and=ali
are facing north but not necessarily in the same order. Each of them earn
different amounts which are in the multiples of 1000s. Their earning

amount iIs mentioned In the coded format as follows.

A@B- Means the earning amount of B is half of the prize amount of A.

A*B -Means the earning amount of B is 55,000 more than that of A.

A%B- Means the difference between the earning amounts of A and B is
20,000 where B>A .

A#B- Means the sum of the earning amounts of A and B is 93,000.

Only four persons sit between B and E, who sits second from the extreme
ends. As many persons sit to the left of B as to the right of the one whose
earning Is 37000. C sits second to the right of H, where E*H. Neither H nor
C sits at the extreme ends of the row. C doesn’t sit adjacent to B. As many
persons sit to the left of one whose earning is 92000 as between the who
earns 45000 and H. 45000#A. The number of persons sitting to the right
of one who earns 45000 is one less than the persons sitting to the left of
one who earns 48000. H@F. The one who earns 4000 less than 50000 sits
to the right of one who earns 33000 more than 46000 but not immediate
right. The one who earns 79000 doesn'’t sit at the extreme ends. F%D. The
one who earns 66000 sits immediate left of B. The number of persons
sitting to the right of G iIs one more than the number of persons sitting to

the left of the one who earns twice of A.
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PUZZLE 03

GGGGGG

T2, where the people sitting in T1 are facing towards the center and the

people sitting in T2 faces away from the center. Six people sit at each
table. Each of them likes different waterfalls- Rhine, Hogenakal, Barkana,
Kiliyur, Suruli, Niagara, Jog, Dudhsagar, Angel, Soochipara, Iguazu and

Coutralam, but not necessarily in the same order.

Note: The consecutive alphabetically named persons are not sitting

adjacent to each other.

E sits second to the left of the one who like Niagara, who sits three places
away from I. L sits third to the right of J. Neither E nor C likes Coutralam
and Angel. The one who likes Dughsagar and Barkana sit at the same
table. One person sits between J and the one who likes kiliyur, who sits
opposite to the one who likes Soochipara. The one who likes Coutralam
sits third to the left of D, who Is not sitting at the same table as B, who
sits second to the right of the one who likes Soochipara. B doesn’t like
Suruli. K sits immediate right of the one who likes Coutralam. The one
who likes Hogenakal sits two places away from F. The one who likes

Suruli sits immediate left of G, who sits opposite to F. As many people sit

between A and the one who likes angel as between the one who likes
angel and the one who likes Rhine, who sits second to the right of H. A
doesn’t sit adjacent to D. The one who likes Iguazu faces outside. The
one who likes Jog sits third to the left of C. Neither L nor D likes
Dudhsagar.
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PUZZLE 04

GGGGGG

number of persons to reach different floors. Lift 1 is to the west of lift 2.

The total number of persons using Lift 1 and Lift 2 is a perfect cube value
but not more than 70. The number of persons getting down from lifts on
any of the floors is not the same. The lowermost floor is numbered as 1

and the floor immediately above it is numbered as 2 and so on.

The number of persons getting down from lift 1 on floor 1 is one-third of
the number of persons getting down from lift 2 on floor 5. The total
number of persons getting down from both the lifts on floor 2 is three
more than the number of persons getting down from lift 1 on floor 1. Not
more than 8 persons getting down from both the lifts on floor 2. The
number of persons getting down from lift 2 on floor 5 Is not an even
number. Three persons are not getting down from any of the lifts on floor
2. The number of persons getting down from lift 2 on floor 3 is two more
than the number of persons getting down from lift 2 on floor 2. The
number of persons getting down from lift 2 on floor 4 is one more than
the number of persons getting down from the same lift immediately
below. Not more than 9 persons getting down from lift 2 on floor 4. The
total number of persons getting down on floor 2 is equal to the number
of persons getting down from lift 1 on floor 5. The sum of the number of
persons getting down from lift 1 on floor 1 and floor 5 is equal to the
number of persons getting down from lift 2 on floor 1. The number of
persons getting down from lift 1 on floor 4 is more than the number of

persons getting down from lift 1 on floor 3.
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ANSWER

PUZZLE 01

Floor No Flat A Flat B
04 M(@23) K42
03 0(27) 1(35)
02 L.(46) P(49)
01 N(38) J(32)
PUZZLE 02

t tt t t 114

D@eek) Bsk) H@2k) Aw@sk) C(ok) (G@sk) E@7k) Fek)

PUZZLE 03
I-Rhine -Iguazu
Kiliyur
Dudh-E bD-Barkana F C-Suruli
sagar
A H-Angel B cE:chi ara
Coutralam Jog b
Niagara )

K Hogenakal
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PUZZLE 04

Floor no. |Lift O1 Lift 02| Total
5 8 15 23

4 6 4 10

3 2 3 5

2 7 1 8

1 5 13 18
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NEW PARTTEN MISC. QUESTION

Here is a 5x5 matrix that is used to get cash back amount while usm
credit card in POS. The row of the matrix is denoted as 1 to 5 from top to
bottom and the column of the matrix is denoted as @, #, $, % and & from

left to right respectively.

Row 1 contains numbers which is a consecutive multiple of 17 from left

to right starting from 34.

Row 2 contains numbers which is a consecutive multiple of 19 from left

to right starting from 57.

Row 3 contains numbers which 1s a consecutive even numbers from left

to right starting from 28.

Row 4 contains numbers which is a consecutive multiple of 13 from left

to right starting from 13.

Row 5 contains numbers which is a consecutive prime numbers from left

to right starting from 41.

Conditions:

l. If the outcome is less than 500, we get Rs.90 as cashback.

Il. If the outcome is between 501 and 1300, we get Rs.200 as cashback.
Ill. If the outcome is between 1301 and 2200, we get Rs.450 as cashback.
V. If the outcome Is between 2201 and 3500, we get Rs.700 as cashback.
V. If the outcome is between 3501 and 5000, we get Rs.1500 as cashback

Note: The amount of money we receive will differ depending on the

outcome we receive from the string .

- 8
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For the outcome of the string:

numbers 1s multiplied by 3

B. If an even number 1s followed by a prime number, then find the difference

between both numbers and cube the sum of the digits of the
resultant.

C. If an odd number is followed by a prime number, then the sum of the unit

digits of both numbers is multiplied by 7.

D. If an even number is followed by a non-prime odd number, then the

difference between the unit digits of both numbers is multiplied by 9.

E. If an even number is followed by an even number, then multiply the unit digit

of both numbers and square the resultant.

11. How much cashback will get from the sum of the outcome of both

strings?

l. 2# 5% 1&
Il. 3@ 2% 4%
a) Rs.90

b) Rs.200

c) Rs.450

d) Rs.700

e) Rs.1500
12. What is the product of the outcome of the below strings?
l. 2% 3& 1#
Il. 4@ 3% 5%
a) 2420

b) 2320

c) 2220 ﬂ @
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d) 2520

e) 2120

13. If the rate of one chocolate is Rs.40, then how many chocolates can

buy using the cash back will get from the sum of the outcome of both
strings?

. 1@ 3% 4#

Il. 5& 1$ 5@

a) 3

b) 5

c) 4

d) s

e)9

14. How much cash back will get from the outcome of the given string?
1% 4@ 3& 5%

a) Rs.90

b) Rs.200

c¢) Rs.450

d) Rs.700

e)Rs.1500

15. Find the difference between the cash back we get from the outcome

of each string given below.
|. 1%5#2&

Il. 2@3#4%

a) Rs.90

b) Rs.210

c) Rs.110

d) Rs.150
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e) Rs.100

g1 TP 5x5 Afedd g ForasT g Wsiitg A *fge +18 &1 IudhT Hd
9 HRAP A YT FHA & e foar wirar g1 Afeaw &1 ufdd &t Suw S
T 9% 1 9 5 & U H 1471 7471 7 3R Afea & Hiay & 91¢ § ge HH:
@, #, $, % MR & b =Y H ST 1T ¢ |

UfeRT 1 H HBATE § St 34 | YR SR A1¢ A Q1T 17 BT TSP SHHNTA I[UTS & |
e 2 W HEATE § Ol 57 | Y[R= gIh 918 A GIU 19 BT TH SHHNTA 0T 5|
TRt 3 W HEITE B Sl 28 | ¥ BIpY 91U ¥ 4TE AR HH HBIE 3 |

UfeRT 4 § G=ATE B Sl 13 | Y= GIopR A4 A GIU 13 BT T AN I[UTS ¢ |
TRt 5 W H@ITE § W11 41 T Y& §IpR 918 T TE HHRTT U Y86 3 |
fRyfar.

I.ﬁWmoﬁW%?ﬁGﬁW%WﬁgoWﬁﬁﬁ%I
fahta. afe ufRome 501 3R 1300 & 141 B, Ot 8H FRAF & TU A 200 FU
firea 81

. TfE IR 1301 3R 2200 F 9 €, A1 SH HUEP & U H 450 A
firea 81

El'g’zf.qﬁqﬁUTngm Gﬁ?%oo%ﬁ?{aﬁ.’fﬁW%Wﬁmow
firera €1

V.ﬂﬁqﬁ'ffﬂ'qsfsm GﬁTfsooo%@H%,?ﬁEﬁW%Wﬁ 1500 3T T
g

ST ¢ 8H UTW g4 drell Y-RTIRT RET | e uiR oy & SR o e gt
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& & ufvomy & fere:

A. gf¢ TP faud I & 916 TP TR-3HTST |BAT 3(Tell B, a’raﬁ‘rmaﬁwr
AT 3 A T[oTT faaT Sirar @

B. Ufc U IH T & 91¢ Ueh 3HTST IST ATd! 8, oY S Semeif & o=
BT 3R JTd B 3N D] & TN Y g9 B gRomed

c. i TP faun = F 918 TP AU T= 3Tt 8, df 3+l d=me &
SPHIS 3l BT INT 7 | U far Srar g

D. fe U YH T=T &P 916 U TR-3MHTY faus =T 3(Tell 8, t G191 T3l
P SPIS 3P| P oI BT 3R 9 H UM T ST & |

5. gfe U UH W1 & 9IS Uh JH TBT 3(Tdl g, df SIS & ShTs 3
1 IO B 3R TRUMTH BT T B

11. 1 %31 & ufvomy & 9T 9 fora=m dxra® firerm?

I. 2# 5% 1&

IL. 3@ 2% 4%
a) 90 ¥

b) 200 ¥

C) 450 ¥

d) 700 ¥

e) 1500 ¥

12. A1 &t 715 &1 & ufvonmy &1 Iure =T 8

I. 2% 3& 1#

II. 4@3% 5%

a) 2420 ﬂ @
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b) 2320

C) 2220

Genius

d) 2520

e) 2120

13. gfe TP dAlddc Bl DA 40 Y g, @l 1 & gRomy & IR A T
AP PT IYANT PP fhd-] didbdc W ST Pl g dR?

I. 1@ 3% 4#
II. 5& 1% 5@

14. 1 g &1 & afRoma & foramm Hrdess frermme
1% 4@3 3N 5%

a) 90 %

b) 200 %

C) 450 ¥

d) 700 ¥

e) 1500 ¥

15. T 3T ¢ yd® & & ufvome & g6 feq ard &1 9 & di" 3w
ITd B

I. 1%5H#2&

VN <7 @
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a) 90 ¥

b) ®.210

c) 1109
d) 150 %

e) 100 ¥

DIRECTION & DISTANCE

“A@B (14)” means “A is 17m to the north of B”.
“A&B (18)” means “A is 21m to the south of B”.
“A%B (25)” means “A is 29m west of B”.

“A"B (28)” means “A is 24m east of B”.

Condition: A%D(6), B@D(11), C&B(3), F"B(12), E&F(11), G E(16),
H@G(2), K%L (11), I@L(14), I"H(13).

1) What is the position of H with respect to C?
A. East

B. South-east

C. North-east

D. South-west

E. None of these

2) What is the shortest distance between E and K and also determine the

position of E with respect to k?
A. 6\/5m, north-west

B. \/QOOm, north-west

C. 12m, north

D. 160m, south-east

E. None of these.
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3) If a person walks 10m towards north from A, then takes a left tur

6m. What is the shortest distance and position of the person now Wl’f
respect to point B?

A. 6m, east

B. 8m, south-west

C. 41 7m, south-west

D. 6m, north-east

E. None of these

4) What Is the shortest distance between points F to H?
A. 15m

B. 12V2m

C. V244m

D. 12m

E. None of these

5) If a person walks 20m towards north from K, again he takes a left turn

of 28m. What is the position of the person now with respect to point C?
A. West

B. South-west

C. North-east

D. South-east

E. None of these
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"A@B (14)" BTATE"A, BH IR H 17 Hiez " |
"A&B (18)" BT A B "A, B & Sf&HUT H 21 Hiez 8" |
"A%B (25)” BT AL g “A, B & 29 Hicx UfFA H 3" |

"AB (28)” BT IS8 “A, BH 24 Wexgd H 8" |

2T A%D(6), B@D(11), C&B(3), FAB(12), E&F(11), G E(16), H@G(2),
KoL (11), ATS@TTA(14), T TA(13)

1) CH I<H H H BT H T 8?2

A. Td

B. GI&U1-gd

C. IW-qd

D. TI&UT-TigH

E3H 9 g 51

2) E 3R K & o9 IAaH gl A1 7 3R k & "y ¥ £ o fRyfa oft Auifea
D7

A. 6581, ITR-UfEH

B. V200!, STR-UIEH

C. 12 |l, 3R

D. V160, Gfamr-gyd

E. 394 9§ P a1

3) gfe Hig AfRT A | IR BT 3R 10 Hiex Iad1 &, fh 6 HieT I15 3R gadr
| 3T faa ot *gaw g3t 3R fRufa wan g fog B & dey &7

A. 69, Ud
©

B. 8 HICR, I&U-uigH
C. 4N17HY, <féro 'f:i



https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==

D. 6 Hl, 3TR-Yd

E. 390 9 &I sl

4) fig F 9 H & afg ga9 g3l | 82
A. 158

B. 12+2Hl

C. V2444

D. 124

E. 290 I Pl ol

5) gfe BIs Ufad K A IR Bt 3R 20 Hiex Iadr g, df 98 fbr A 28 Hiex a8
3R gedr g1 fag c & a<u # srq aafda i Rufa w=m 8-

A. Of3H

B. CI&UT-UigH

C. IWR-Yd

D. GI&U1-gd

E. 390 9 Pl ol
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ANSWER

NEW PARTTEN MISC. QUESTION

1. Answer: B

l. 2#5%1& -> 76 53 102

By condition B: 76-53=23 -> 2+3 -> cube of 5 =125
By condition A: (125+102)*3 = 681

Il. 3@2%$4% -> 28 95 52

By condition D: (8-5)*9 =27

By condition A: (27+52)*3 =237

Sum of both strings=681+237 = 918
2. Answer: D

. 2%3&1# -> 114 36 51

By condition E: square of (6*4) =576
By condition D: (6-1)*9 = 45

Il. 4@3%5% -> 13 34 47

By condition A: (13+34)*3 = 141

By condition C: (1+7)*7 =56

Product of both strings: 45*56=2520
3. Answer: B

. 1@3%44# -> 34 32 26

By condition E: square of (4*2) = 64
By condition E: square of (4*6) =576
Il. 5&1$5@ -> 59 68 41

v

By condition A: 58)*3 = 381

Genius
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By condition C: (1+1)*7 =14

Sum of both the strings=590. Thus, cashback
we get is Rs.200, so we can buy 5 chocolates.
4. Answer: E

1%4@3&5% -> 85 13 36 47

By condition C: (5+3)*7 = 56

By condition E: square of (6*6) = 1296

By condition B: (1296-47) = 1249 =Cube of (1+2+4+9) = 4096
5. Answer: C

|. 1%5#2& -> 85 43 133

By condition C: (5+3)*7 =56

By condition D: (6-3)*9 = 27

We get Rs.90 as cashback.

Il. 2@3#4% -> 57 30 39

By condition A: (57+30)*3 = 261

By condition A: (261+39)*3 = 900

We get Rs.200 as cashback.

Hence, difference between the two cashback is

Rs.110
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DIRECTION & DISTANCE

1) Answer:
2) Answer:
3) Answer:
4) Answer:

5) Answer:

B

> > O >

em

&m

A 10m

GIVE YOUR FEEDBACK IN COMMENT SECTION

F
14m
H 9m I
Em‘
12m G 17m
K
15m L
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